Honors Calculus II: Spring 2007
Exam 1
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Evaluate each of the following.
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(Problem 1 continued)
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2.[20pts.]  For each of the following, find (—;%
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3.[15pts.]  Find the following limits.
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4.[8pts.]  Solve each of the following for z.
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5.[15pts.]  Consider th% function f(x) = \/E;:L—l with the domain & < 0. (a) Show that f
is 1-1. (b) Find a formula for f~1 and state the domain and range of .
S ” K . S tan € 1 & "“"i
a) Qf= t’w\*h—v 20 fr %o SpwT o d I

Nt !t damf s ,M&F c (o 1)

5}15 =+ " &&M‘g‘:’f (01)
Y=+ a1 =F AR A



